Progress Test Unit 10
1) Translate the words from English into Russian. 
1. A birch
2. A bear
3. A landscape
4. Population
5. Nationality 
6. Culture
7. Time zones
8. To create
9. Car industry
10. Horse racing

2) Insert the verbs in the appropriate form to form second conditionals. 20 points.
1. Binnerts _____________ (may) look for some sources on Dracula, if there__________ (be) any.
2. If the police__________ (turn) the robber out he ___________ (do) it again.
3. Molly’s face says 'I __________ (love) you if ______ I but I can't...’
4. These legends ___________ (draw) them on, if only they _________ (have) no time to think realistic.
5. If the King __________ (employ) an agent it (certainly be) you.
6. If Greg ____________ (not have) money enough to move to another town, we_________ (give) it to him.
7. If Mollenhauer and Butler and___________ (can) get together, it ________ (be) a very different matter.
8. If it ____________ (be) up to me, I _________ (have) my helicopter airborne.
9. '___________ (not can) you know more, if you _________ (think) proper?'
10. You _________ (can) write every month if you _________ (like).

4) Join parts of the sentences to form second conditionals.
	1) How could you know that you would fall into the cellar…
2) If the police shut the robber up too soon…
3) They couldn't even hear in the town …
4) If the author were to give an account of it …
5) If the time scale was lengthened …
6) If the consultative process were to be concluded more successfully …
7) If it were impossible to adopt the draft resolutions by consensus …
8) We could hide in a big barn …
9) The dog would start to howl …
10) Even if the whole lady world protested, …
	a) if we fired the cannon here.
b) they would all the same receive an overwhelming majority of all votes.
c) the reader would hardly believe it.
d) Mark wouldn’t stop watching football.
e) if we felt any danger.
f) if you didn't do this on purpose?
g) the effect would be that much more neutrons would decay into protons.
h) as if it were covered with bees
i) they would deprive themselves of getting more further evidence against him.
j) much more had to be done



